

**2004 - 2005** 09/01/05

Page 1 of 4

2 YEA	2 YEAR PUBLIC COMMUNITY COLLEGE					
Code	Institution	Total Dollars	Students Receiving	Average Award Amount		
052	BREVARD COMMUNITY COLLEGE	\$0.00	0	\$0.00		
062	BROWARD COMMUNITY COLLEGE	\$0.00	0	\$0.00		
422	CENTRAL FLORIDA COMMUNITY COLLEG	\$1,800.00	3	\$600.00		
322	CHIPOLA COLLEGE	\$0.00	0	\$0.00		
642	DAYTONA BEACH COMMUNITY COLLEGE	\$0.00	0	\$0.00		
362	EDISON COMMUNITY COLLEGE	\$13,995.00	7	\$1,999.29		
162	FL COM COLLEGE AT JACKSONVILLE	\$14,898.50	16	\$931.16		
442	FL KEYS COMMUNITY COLLEGE	\$0.00	0	\$0.00		
032	GULF COAST COMMUNITY COLLEGE	\$3,900.00	4	\$975.00		
292	HILLSBOROUGH COMMUNITY COLLEGE	\$6,373.49	11	\$579.41		
562	INDIAN RIVER COMMUNITY COLLEGE	\$9,000.00	2	\$4,500.00		
122	LAKE CITY COMMUNITY COLLEGE	\$14,175.32	5	\$2,835.06		
352	LAKE SUMTER COMMUNITY COLLEGE	\$16,000.00	16	\$1,000.00		
412	MANATEE COMMUNITY COLLEGE	\$6,000.00	6	\$1,000.00		
682	MIAMI DADE COLLEGE	\$0.00	0	\$0.00		
402	NORTH FLORIDA COMMUNITY COLLEGE	\$0.00	0	\$0.00		
462	OKALOOSA-WALTON COLLEGE	\$0.00	0	\$0.00		
502	PALM BEACH COMMUNITY COLLEGE	\$0.00	0	\$0.00		
512	PASCO-HERNANDO COMMUNITY COLLEGE	\$12,143.54	21	\$578.26		
172	PENSACOLA JUNIOR COLLEGE	\$232.12	2	\$116.06		
532	POLK COMMUNITY COLLEGE	\$0.00	0	\$0.00		
012	SANTA FE COMMUNITY COLLEGE	\$2,700.00	2	\$1,350.00		
592	SEMINOLE COMMUNITY COLLEGE	\$1,980.00	3	\$660.00		
282	SOUTH FLORIDA COMMUNITY COLLEGE	\$11,895.72	2	\$5,947.86		
542	ST. JOHNS RIVER COMMUNITY COLLEG	\$3,600.00	4	\$900.00		
522	ST. PETERSBURG COLLEGE	\$0.00	0	\$0.00		
372	TALLAHASSEE COMMUNITY COLLEGE	\$6,719.60	7	\$959.94		
482	VALENCIA COMMUNITY COLLEGE	\$11,188.78	14	\$799.20		
Inst Type Totals:		\$136,602.07	125	\$1,092.82		

4 YEAR PRIVATE COLLEGE					
Code	Institution	Total Dollars	Students Receiving	Average Award Amount	
851	BARRY UNIVERSITY	\$3,300.00	2	\$1,650.00	
683	BEACON COLLEGE	\$3,300.00	1	\$3,300.00	



**2004 - 2005** 09/01/05

Page 2 of 4

4 YEA	4 YEAR PRIVATE COLLEGE					
Code	Institution	Total Dollars	Students Receiving	Average Award Amount		
852	BETHUNE-COOKMAN COLLEGE	\$3,300.00	1	\$3,300.00		
959	CLEARWATER CHRISTIAN COLLEGE	\$3,300.00	2	\$1,650.00		
859	ECKERD COLLEGE	\$3,300.00	1	\$3,300.00		
854	EDWARD WATERS COLLEGE	\$3,300.00	1	\$3,300.00		
855	EMBRY-RIDDLE AERONAUTICAL UNIV	\$3,300.00	1	\$3,300.00		
856	FL COLLEGE	\$3,300.00	3	\$1,100.00		
843	FL HOSPITAL COLLEGE OF HLTH SCIE	\$3,300.00	3	\$1,100.00		
857	FL INSTITUTE OF TECHNOLOGY	\$3,300.00	1	\$3,300.00		
858	FL MEMORIAL COLLEGE	\$3,300.00	1	\$3,300.00		
860	FL SOUTHERN COLLEGE	\$3,300.00	1	\$3,300.00		
879	FLAGLER COLLEGE	\$3,300.00	3	\$1,100.00		
386	INTERNATIONAL COLLEGE	\$3,300.00	2	\$1,650.00		
862	JACKSONVILLE UNIVERSITY	\$3,300.00	1	\$3,300.00		
863	LYNN UNIVERSITY	\$3,300.00	1	\$3,300.00		
068	NOVA SOUTHEASTERN UNIVERSITY	\$3,300.00	1	\$3,300.00		
868	PALM BEACH ATLANTIC UNIVERSITY	\$3,300.00	1	\$3,300.00		
584	RINGLING SCHOOL OF ART AND DESIG	\$3,300.00	1	\$3,300.00		
869	ROLLINS COLLEGE	\$3,300.00	1	\$3,300.00		
870	SAINT LEO UNIVERSITY	\$3,300.00	1	\$3,300.00		
917	SOUTHEASTERN COLLEGE	\$3,300.00	4	\$825.00		
853	ST. THOMAS UNIVERSITY	\$3,300.00	2	\$1,650.00		
872	STETSON UNIVERSITY	\$3,300.00	1	\$3,300.00		
874	UNIV OF MIAMI	\$3,300.00	1	\$3,300.00		
875	UNIV OF TAMPA	\$3,300.00	1	\$3,300.00		
929	WARNER SOUTHERN	\$3,300.00	2	\$1,650.00		
878	WEBBER INTERNATIONAL UNIVERSITY	\$3,300.00	2	\$1,650.00		
Inst Type Totals:		\$92,400.00	43	\$2,148.84		

4 YEAR PUBLIC STATE UNIVERSITY					
Code	Institution	Total Dollars	Students Receiving	Average Award Amount	
376	FL A & M UNIVERSITY	\$0.00	0	\$0.00	
501	FL ATLANTIC UNIVERSITY	\$0.00	0	\$0.00	
361	FL GULF COAST UNIVERSITY	\$0.00	0	\$0.00	
131	FL INTERNATIONAL UNIVERSITY	\$0.00	0	\$0.00	



2004 - 2005

Page 3 of 4 09/01/05

4 YEAR PUBLIC STATE UNIVERSITY					
Code	Institution	Total Dollars	Students Receiving	Average Award Amount	
371	FL STATE UNIVERSITY	\$0.00	0	\$0.00	
867	NEW COLLEGE OF FLORIDA	\$0.00	0	\$0.00	
481	UNIV OF CENTRAL FLORIDA	\$0.00	0	\$0.00	
011	UNIV OF FLORIDA	\$0.00	0	\$0.00	
161	UNIV OF NORTH FLORIDA	\$0.00	0	\$0.00	
291	UNIV OF SOUTH FLORIDA	\$0.00	0	\$0.00	
171	UNIV OF WEST FLORIDA	\$0.00	0	\$0.00	
Inst Ty	pe Totals:	\$0.00	0	\$0.00	
Program / Report Totals:		\$229,002.07	168	\$1,363.11	



2004 - 2005

Page 4 of 4 09/01/05

REPORT SUMMARY DATA						
		Total Dollars	Students Applying	Students Eligible	Students Receiving	Average Award Amount
Program / Report Totals:		\$229,002.07			168	* \$1,363.11
*May include duplicates funded at	more than one In	stitution				
Totals by Application:		\$229,002.07	0	0	168	\$1,363.11
Initial Applications:		\$201,441.57	0	0	150	\$1,342.94
Renewals:		\$27,560.50	0	0	18	\$1,531.14
Totals by Race:		\$229,002.07	0	0	168	\$1,363.11
Asian/Pacific Islander:		\$6,730.00	0	0	5	\$1,346.00
Black:		\$40,195.83	0	0	33	\$1,218.06
Hispanic:		\$33,786.02	0	0	17	\$1,987.41
Native American/Alaska Native:		\$1,575.00	0	0	2	\$787.50
White:		\$107,633.50	0	0	88	\$1,223.11
Other:		\$39,081.72	0	0	23	\$1,699.21
Totals by Sex:		\$229,002.07	0	0	168	\$1,363.11
Female:		\$138,554.14	0	0	107	\$1,294.90
Male:		\$88,930.79	0	0	59	\$1,507.30
Unknown:		\$1,517.14	0	0	2	\$758.57
Program Appropriation:	\$500,000.00					
Data Locked on:	09-01-2005					